(i DARK EEES OBk — ]

(—) Hsx
7 HEAMHAOSE O AR
fiti 5% 0> 4 s it FH BT AGFEF OB | AR ORI
FZCET S IR hICET S
B & L7 | B Wa 3 548
e =
Wit =1 — A 2,000 A — b~ | 1FFfH 21,780H 43,550
Jpa—ak L
TERT 5%
=
1,000 A — & | 1K§fH 10,890 21,780
Jha—xL L
THEAT %5
=
Bt o — A MHEfiER (77 A F | 1 RF#H 650 [ 650 M
— ANy b, ATy b
IFAL—H =~ )
KFH 1I¢H 16,6304 33,250
AV St 1IRF[H] 1,300 1,300
NP e 1 ¢ 1,110 1,110
N SR 1 IREfH 1,100H 1,100H
GAESS: 1 IREfH 4,970 4,970
AT 1 K¢ 4,950M 4,950/
i A R = 1 IREfH 5,220 5,220
7 4 = | Bk, B | 1R 2,020 2,020
v Voo | BEXIIE -SEE
KT —
R
F—vr 7 ar ba—=E 1 IRFfH] 1,780 H 1,780 H
o 1 R 7,190 M 7,190 M
nbE—, =V hTUAKR—LZE|1H 5014 501
DA O fi % A TED Dk | 15 A— R

(THB5y 2 R<, )




A B NBEH O5E OFIFTEH

fi %4 it FH BT FI B

Witk — 2 (FpARIA) 2MRFfH] 3,120
B — A (g | A— FUTH X— 2R fH 6,210
FIA) (LA )

AN— NI X — 2 FEfH 6,640

QA )

AN— T X — 2 FEfH 7,070

(AN )

A—h (BATEZX) 2 I 10,390/

(N7 el 8 2 IRFf#H] 5,900
it Jek 1 14 15,000/
ML —= 7 — A PESTE) 460
S 1[A] 530
(ER(EE= A=A 1A 13 7,400

fE#=B 1A 13 4,650
(Z) B axdE

i fifi FH HELAT FI A B

B, R, IR IT | 1B 1EFA— L 3,200
TGN
Z DA D Pt I8 FR AR M, 1A, 8. 1E, 198, 49,3804

(=S E]]

16, IAIFIR 1R X




